3 x Table
These sheets get progressively harder as you go through so please select the one that you feel is right for your child.  The answers for all sheets are available at the end.  There is no need to print the sheets out you can either record the answers in the exercise book sent home or use as verbal work and just discuss them with your child.
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Related Caiculations

1. Kasef and Ava are discussing related facts.

1 think the related fact fo 6 x 3|
is 6 x 30.
P
Kasef
1 think the related fact fo 6 x 3|
is60x3.

Ava

Who is correct?

il
2. Circle the representation that does not belong in the fact family for 3 x 5 = 15.
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3. Prove that soren’s statement is correct.

40 x 2 is ten times greater than4x2=8.
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Related Caiculations

4. Claudia and Ezran are discussing related facts.

1 think the related fact o 8 x 3|
is80x3.

Claudia
1 think the related fact o 8 x 3|
is88x3.
Eran

Who is correct?

s
5. Circle the representations that are in the same fact family. ®
s
4. Prove that Rayla's statement is correct.
60 x 3 is ten times greater than 6 x 3.
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Related Caiculations

7. Callum and Amaya are discussing related facts.

Q <( I think the answers are
3x3=9and 30 x 30 = 900. A. X 3 = 9

oo
/( I think the answers are B. 30 x =
< 3x3=9and30x3=90.

Hmaya

Who is correct?

8. Complete the number sentences to create two related calculations and one that
does not belong in the same fact family. The answers must all be less than 1,000.

A. 20 x =
B. X 200 =
C. 2 x =

¢

9. What would need to change in Janai's statement if she used 500 x 27

@

Explain your thinking.

b2

50 x 2 is ten times greater than 5 x 2. J
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Homework/Extension
Related Calculations

3.40 x 2is fen fimes greater because 4 x 2 = 8 and 40 x 2 = 80 (80 is fen fimes greater
than 8).

corect.

s.Bandc

.40 x 3 is ten times greater because & x
than 18).

8 and 60 x 3 = 180 (180 is fen fimes greater

Greater Depth

7. Both children could be correct.

8. Various answers, for example: A. 20 x 4= 80; 8. 2 X 200 = 400; C. 2x 2= 4

7. Various answers, for example: If Janai's statement used 500 x 2 instead of 50 x 2, the
calculation § x 2 would need o change fo 50 x 2. This is because § x 2 = 10 and 500 x 2=
1,000, which is one hundred times greater than 10.





